Math 099 - Summer 2013 - Test 2

Instructor: Dr. Francesco Strazzullo Name, KE‘)’

Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.

Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. (10pts) Write the slope-intercept form of the line 3z — 4y = 12.
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2. (10pts) Write the equation of the vertical line passing through (g, 2).
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3. (10pts) Write the equakion of the line passing through (—1,2) and parallel to the line 4z — 2y = 3.

Chmrerit Meants “SAmE sL002 7 IF somi 1S 4 veRTIL CLVET Y= X +
sy W 1o Thd Seofs of  Lbx-2Y=3 ‘_\}D
bx-2yz% —p ~2Y= -4¥+3 — Y= 2X m=<
-uXx ~Ux -2 -2 )

PLofr (——1[2) wio Yz 2%+h 1 2:2(-)+b}oe ():q
2 *2

THe : Iy: 2X+q

4, (10pts) Write the equation of the line passing through the points (2, —1) and (3, 4).
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5. (15pts) Solve the system of linear cquations {
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6. (15 points) A pharmacist wants to mix two solutions to obtain 450cc of a solution that has a 18%
concentration of a certain medicine. If one solution has a 10% concentration of the medicine and the
other has a 25% concentration, how much of each solution should she mix?
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7. {15pts) Graph and show the solution set and label the corner point for the system of inequalities
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8. (15pts) A dieter is allowed 120 calories for a snack. She can have a combination of animal crackers and
peeled carrots. Animal crackers contain 8 calories each and peeled carrots contain 15 calories. She can
not eat more than 10 items for a snack. Let £ = the number of crackers and y = the number of carrots

for a snack.

(a) Write a system of linear inequalities to describe the possible numbers of each items the dieter can

eat.

(t) Graph and show the solution set in this context., Label the corner point.

(c) Provide two possible choices for a snacks.

8X4157 <130 |

oL\

1/ i Al
".."""!'lflr‘“
J'-:r.a=r.i' ‘i'fﬂ'ﬂ‘g a! e ————

12 AL i

e
.1

7
V0 MR E TR 120 CAL. Y - g

o ur 10 15,

GJ Xty<|o

5081, | BXx415Ye 120
SeLVE Tor /
s Q

7€ Xt N goLipy
fizg.

, [137“ 8% Brrow

TS La~Tex T

X 20 40 ‘/7/0

C) I) b URcKing | 5 cAenaTs
7) 9 cmors, | gapnor



